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QUESTION 1

The following shrink command has what effect on the customer table? execute function sysadmin:task("table

shrink","customer")

A. Moves all rows to the beginning of the table while users can modify the table.

B. Locks the table in exclusive mode and moves all rows to the beginning of the table.

C. Locks the table in exclusive mode and releases all free space at the end of the table.

D. Releases all free space at the end of the table to thedbspace while users can modify the table.

Correct Answer: D

QUESTION 2

Which sbspaces statement is FALSE?

A. Sbspaces may be recoverable.

B. Sbspaces can be of varying page size.

C. Sbspaces may be part of round robin fragmentation.

D. Sbspaces have read, write and seek properties similar to UNIX functions.

Correct Answer: B

QUESTION 3

Which of the following is NOT a step in setting up HDR for the first time?
A. Take a level 0 backup of the primary.

B. Useoninit -v to bring up the secondary.

C. Execute a physical restore on the secondary.

D. Useonmode -d to specify the secondary instance name.

Correct Answer: B

QUESTION 4

What does the ovbuff field of an onstat -p output show?
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A. The number of times that a buffer was read.

B. The number of times a buffer was extended.

C. The number of times that any buffer was overwritten.

D. The number of times the instance ran out offree buffers.

Correct Answer: D

QUESTION 5

Identify a scenario when you CANNOT use in-place migration?

A. When you want to change database locale.

B. When you want to migrate from a 32-bit to a 64-bit port of Informix.

C. When you want to defragment some of the heavily fragmented tables.

D. When you want to use new configuration features in the new Informix version.

Correct Answer: A

C2090-919 PDF Dumps C2090-919 VCE Dumps

C2090-919 PDF Dumps | C2090-919 VCE Dumps | C2090-919 Braindumps

C2090-919 Braindumps

3/3


https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html
http://www.tcpdf.org
https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html

